
Exit Multiples 
 
The method we used to calculate the intrinsic value of Apple is accurate but it has some 
limitations. We didn’t take into consideration that Apple is buying back shares and paying 
dividends. We could do that by altering the discount rate to account for these. Apple has been 
buying 5% of its shares back per year over the last 5 years and has a dividend yield of about 
1%. How do we adjust the discount rate for that? That’s a hard thing to do. Finding a right 
discount rate is already hard, let’s not make it harder. Besides, changing the discount rate by 
only 1% makes a big difference. Let’s say someone else thinks that the discount rate should be 
9% instead of 10%. 

This 1% adjustment changed the intrinsic value by more than $100 billion or about 15%. 
 
Now, if someone else thinks that Apple will grow by 3% in perpetuity, this further complicates 
things. 
 

 



We now have a 25% difference from the original intrinsic value.  
 
Another limitation of this method is that we may not hold the company forever. If we’re holding it 
for only 5 years (because let’s say we want to invest in 5G), what’s the use of the discounted 
owner’s earnings for the year 2029? 
 
I’m not saying that the discounted owner’s earnings method of Warren Buffett is wrong. It is the 
best way to value a company that you’re going to acquire fully and as you get better as an 
investor, it will be easier to determine the right discount rate and other estimates. But if you want 
to hold a company for only a few years, it doesn’t really show us the whole picture. 
 
Let’s say we want to buy Apple stocks today and hold until 2029, is this a good idea? 
 
Since we’re buying shares, and not the whole company, let’s look at the shares. 
 

 
 
We calculated the Owner’s Earnings per share and the Price to Owner’s Earnings Ratio of 
Apple.  
 
In 2029, according to our prediction, Apple will have an owner’s earnings of $74.7 billion. Let’s 
assume Apple keeps lowering buying back their shares at a rate of 5% per year. In 2029, Apple 
will have 2800 shares.  
 
Let’s estimate the OE/Share for 2029 
 



 
 
The owner’s earnings per share in 2029 is estimated to be $26.67. 
 
Over the past 5 years, Apple had exit multiples ranging from 10.9 to 21.1. What is this exit 
multiple?  
 
It really depends on the company. For Apple we can use the Price to Owner’s Earnings Ratio. 
For a bank, the PB Ratio might be better.  
 
How much will investors pay for Apple in 2029? P/OE of 10? 15? 20? 
 
Right now, the P/OE of Apple is 35. That’s a record high for the company.  
 
We will need to look at three cases, the bear, base and bull case. 
 
In the bear case, we use a multiple of 10, for the base case, we use a multiple of 20 and for the 
bull case, we use a multiple of 30. 
 

 
 
We now estimate the probabilities of each scenario happening and calculate the expected price 
of each.  
 
Currently, the price of Apple is $459.63. Let’s calculate the returns of Apple for the next 10 
years and the Compounded Annual Growth Rate (CAGR). 
 



 
 
We also estimate that Apple will always be paying a 1% dividend yield. 
 

 
 
Next, we will estimate the probabilities of the bear, base and bull cases and then calculate the 
expected return. 
 
Expectation is calculated by summing the products of the probability and the (CAGR + Div) 
 

 
 



The Expected annual returns on Apple stock is 2.40% including dividends. This doesn’t like a 
good investment right now. Normally, one would be expecting higher returns than that.  
 

 
 
We can see the big gains of Apple in recent weeks.  
 
In the middle of the Early 2020 crash, Apple stock price crashed to $224.37 and since then has 
already doubled. Let’s look at that price if Apple would be a good investment. 
 

 
 



At that price, the expected annual return would be 9.94%, which makes it a much attractive 
investment.  
 
At the price of $224.37, the market cap of Apple would be around $1 trillion and much nearer to 
the intrinsic value that we calculated.  
 
If we wanted to invest in a bank the PB ratio would have been a better exit multiple. Depending 
on the company, on the sector, you need to figure out which  
 
Let’s look at another example, Sony, a company I recently analysed. 
 

 
 
With this company, I looked at more than just 3 scenarios. That’s usually what I do. I looked at 5 
exit multiples of the operating PE and then a bear, a base and a bull vase. In total, I looked at 
15 different scenarios. The more scenarios you look at the better you will be able to evaluate the 
company. 
 
I used operating PE since Sony stock price is highly correlated with its operating PE. 
 



 
Let’s look at Whiting Petroleum, a bankrupt oil company.  
 

 
 
For this one, I used PB exit multiples and in order to find the book value of the company, I had 
to look at future PP&E.  
 
There is no formula to calculate the intrinsic value or the exit multiples of a company. Each 
company is different. It is hard but over time, you’ll get used to this art.  


